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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.
4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each
1 AABC H #B §H&IIT €1 AC—AB=2cm, 74TBC=8 cm. W AC %1 HF I Hifeg |

In a AABC, right angled at B, AC— AB=2 cm, BC=8 cm, find the value of AC.

’ﬁ/ 24 cot A = 7%, il sin A T TF T BT |-
If24 cot A = 7, find the value of sin A,

/sinzA+coszA+cot2A$TﬂHHﬁﬁﬁQI

Evaluate : sin?A +cos2A + cot?A,
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Write an empirical relationship between the three measures of central tendency i Mea,

median and mode.
Eus-o / SECTION-B
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Question numbers 5 to 10 carry two marks each.
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Find the least positive integer which on diminishing by 5 is exactly divisible by 36 and 54.
2 ;
9iEq 6 (V3 + V5)” u erfeia wen ¥

Show that ( V3 + 5 )2 is an irrational number.

% TETG 24— 633 — 2632 +138x ~ 35 Y 22— 2x 35 A W AT ST A W 7 I FIF FAACI 2

Find the quotient and remainder when polynomial x4 —6x3—26x2+138x—35 is divided by
x2—2x —35, :

fow g Ferm F ¥ A QB e §2 v g e i E o fafEw 2

DAY

State which of the two triangles given in the figure are similar. Also state the similarity

criterion used,
/\ SQZ Ly /G\
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2hence

Prove the following identity :
1- 2 sin0 cos”0  Ex

3 & s s R e S 3 100 TG W A o U R
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| | 200-300 | 300-400 400-500 | 500-600 | 600-700
| e o (TH) .
@ wEen |12 18 35 20 15
el _ =
T WO ' E YER ) e arerar §Ro  Fefe
Given below is a frequency distribution table showing daily income of 100 workers of a
factory :
Daily income
[ of 200-300 | 300400 | 400-500 | 500-600 600-700
| workers (in %)
¥l of | 15 18 35 20 15
workers
Convert this table to a cumulative frequency distribution table of ‘more than type’.
@Ug-¥ / SECTION-C
o S 119 20 % YOF F 3FE |
Question numbers 11 to 20 carry three marks each.
11 aqmaﬁﬁrqﬁsxsmsx&us@mmm%mmam%l
Explain whether the number 3 X5 x13 X 46+ 23 is a prime number or a composite number.
12 T g FT Hifee f e e e 3
2x—3y=8
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dx-6y=10
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Determine  graphically  whether  the

2r—-3v=8§
ir—6y=16

has

@) a unique solution,

(@}  infinitely many solutions or

(i)  no solution
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pair of linear equations

TR —4x —6x +4 T @ T W g’ — 2 F ok W R W

= 5 4 3 2
What should be added in the polynomial 3x —4x —6x +4 so that it is completely divisible by x2 -2

13
14 x Ty F fo we wifaw
2 1
X1 “yg—1 3
2 — o
x—1 y—1
Solve forxand v:
]
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A il“ TR W AABD ~ APQS § WahE AD s ps wifrend ¥ | firg W fR AABC ~ APQR 3
i

S R

1 »eriven fip .Y -~
nthe given tigure AABD ~ APQS when AD and PS are medians Prove that AABC ~ APQR.

A
/\ P
B D (:'Q S R

16 R g fas F £B=2D=90°}) AR AB=12cm, AC=13 cm, CE=5 cm ®RED=4 cm &, T BD 3

& T [ Wi |
A
E

B C D
In given figure £B=2D=90°. If AB=12 ecm, AC=13 cm CE=5 cm and ED=4 cm, find the
length of BD.
A

B
B c D

17 0 &1 T T1 B, Srfw fear mn & i V3 tans50=1%1 3
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Given+/3 tan 56 =1, find the value of 0.

1—cosB
1+cosf

(cotd "COSEC3)2 =

Prove that:;

1—cos@
1+cos@

(cotd —cosec&)z =

@mwmﬁ,mﬁ@ﬁmmawmwwﬁaﬁﬁmmwﬁ
¥,
..

37T (61 ¥) 0-10 | 10-20 | 20-30 | 3020 | 40-50 | 50-60 ] 60-70

SR R TS [ 105 | 222 | 220 | 138|103 113|100 |

. . j 1
ﬁmﬁwmmﬁq,sﬁmﬁwmmhﬁmu

The following table gives the ages of 1000 persons who visited a shopping centre on Sunday :

Age (in years) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 ’mm

Number of

persons

105 | 222 220 138 102 113 100

!
Find the mean number of the people who visited the shopping centre on Sunday.

20 T fereirer 3 X & Tl & fog sl v & 100 w9 5t o wow o Rafid o 3

Hredies 1 GReit # fag e §
rsdish 0- |10- |20- [30- |40- [50- [60- |70- | 80- | 90-
10 |20 [30 (40 |50 |60 |70 |80 |90 {100

o
—

faenfefai w11 (2 |4 [15 [15 |25 115 |10
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A school conducted a test (of 100 marks) in English for students of
Class X. The marks obtained by students are shown in the following
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marks  ohtaine
ek ned by students  are shown fllirysiny
Ve T8 T3 55T e
: obtatned ’ 11} 5 ;!; ZLL 3(-)- 0.} 50 '7}7(7{1 i?l‘l r‘;{}
g - ; i 30 |40 50 |60 |70 |ag l 4 , 10%)
berof 1 1T 14 15 15 125 |15 [10 |2 |
| students | i ' J ‘ll ’
i ! ! | !
e T e d ] L
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Question numbers 21 to 31 carry four marks cach.
Show tha A i
at the square of any positive integer is either of the form 3m or 3m+1 for some integer m, 1

4 Ffeaf dnswmwzzrm?wsﬁrim A 2 il F g € 1750 %1 g fw Ay gl 4
F AN A Yo F w0

4 chairs and 3 tables cost 2 2100 and
chair and one table separately,

5 chairs and 2 tables cost T 1750, Find the cost of one

A2 G [ (x) =22~ b +k F YT o AP T TN o (24 (240 &, 1 k0004 510 i) 4

If u and B are the zeroes of the polynomial f (x)=x2~6x +k, find the value of k, such that

a2+ p2=40, -2

99 A UE gha | 70 S wfsfa fe, 74 o6 20 yere ad aw w4 siw fd aa wed s ] 4
#% F1 HAN w1 w1 Afe I Ad T w5 s fuera 0 e T w2 s Fa, @ o w) g0
s W O | vl # foiet e 47 A aaa A safaa b awmm g, @ i 9374 gedl &
e faa g ?

Raghav scored 70 marks in a test, getting 4 marks for each right answer and losing 1 mark for

each wrong answer. Had &-marks been awarded for each correct answer and 2 marks been
deducted for each wrong answer, then Raghav would have scored 80 marks, [ow many
questions were there in the test ?

Which value would Raghav violate if he resorts to unfair means?

faz #ifaq fa 2 waen favEl & Aawal &1 Sar g Jr e & sqma & ad % qoar da 4
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1

Prove that the ratio of the areas of two similar Tizmsec i a0l i e spmars of fe ratio of

their corresponding sides.

~ N B . ik
AABCY, §f2 LADE=B e =hae e AADT ~ a2 RT3y

SR TR AD="6cm AE=T2 = BE= 12 FRBC=582 =E T O EaET

INAABC, if LADE= B, then prove that AADE~AABC

Al FAD=76cm AT=~> R
SO AE=72om BE=42mand BC=82L Tem S22 OE

=1 e

tan? 30° sin 30° + cos §0°. sin? 90 tan? 507 — 2endS o2
Evaluate :
tan? 30% sin 30° + cos 80°. ST 905 i 50T — 2=ndS oot SnaTT

IR e T e i S R rd aﬁr'iit{ 2

i ST

i

I;"!+ta.n_-\\:_;"l—t=_*:-\‘,: >

jm———— = ——— = tanlA
Wl+cotd) (1-cota)

Prove the following identity :

f1+tnAY  f1-tanaAY &
| m————— = = 1Ems

ST TV B S preyy.
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: & Y " LT g = bk
i witeost 8l = V2 cos8 &, 3 TR I cost—sin® = V2 sing 21 4

—
2w

Heos® + §ind = V2 cosB, show that cos8 —sing = -2 sinG.

2 U HEEs T U= qm?é‘&f"{j};ﬁ:

LW (ke & 113 151 21- 23 [25 | !
P VR (kg ®) .i 13 1719 {1921 ; | | 27-29 |
i L - g~ S 2 <3 %7 ¢ {
i ! A | W ai? 2 L.t f H
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Weights of new bom babtes in a haospital are as follows :
\ Weight 115- {15 j17 1% |23 23 125 |27 }
X i985 1317 (16 (23 23 35 {97 13 !
| (II‘I. kg) | 13 .. | W | Ly 1212 V£3 Z2 =4 28 |
i ¢ B ¢ i {
i f i b | |
lNumber of new | i . » = Z.L be [ _ =
R Nt : ; o 3 ,_ {1 i > 3 B = .f
\ ; ; i : i i ! {
If mode of the data is 22 ky, find the onkmown Segmencr >
31 Tl sy KT RS s =i srssS=maRE: 4
e 15 (o |35 [jwe |15 | -
3 3 = ’ 1S53 | 175200 |
i T 1% s jw |5 1 |
. = |
| Taeiesl ; l
10 15 2 |3 = T 12 5 i
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W ESw
| i' ? : ’
T TS + TS IR 93T F= Soa!

Following distribution gives the moarks obtzimed, ot of 200, by the stodemts of Class X in

their class test:

§ ; SRR ; 1150~ 13755 |
| Marks los[30 o5 imwe s isas | ov 4 |
H { ! i 172 .’—Iﬂ' 10

; ]

’ i

| Number of! ¢ ; ¢ ' i '

i ‘10 13 N b = B 1 | & |

i BoAw _— Ao — -— — | B 1

i stadents . ; o E :

{ } i L i | ;
*

Find the mean and modes of the Sats
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